

$t_n \in \mathbb{N} \rightarrow$ ان 10
 $t_1, \dots, t_{n-1} \in \mathbb{N} \rightarrow$ 2

$t_n \in 7, 11, 15, 19, \dots$ $a \neq d \in$ 11

$S_n = \frac{n}{2} (2a + (n-1)d) \Rightarrow S_n \in \omega(10 + (9 \times 4)) \in \mathbb{N} \rightarrow$ ان 2

$S_n = \frac{n}{2} ((2 \times 11) + (n-1) \times 4) \in \mathbb{N} \rightarrow$
 $\Rightarrow a_1 = 11, d = 4$

$t_n \in 1 + \sqrt{2}, 2 + \sqrt{2}, \dots$ $d \in 1 - \sqrt{2}$ $a \in 1 + \sqrt{2}$ 12
 $a_{10} - a_{100} = 10d \Rightarrow \frac{1}{5} (1 - \sqrt{2}) \in \mathbb{N} \rightarrow$ 2

$a_n = \omega^{2n}, 2 \times \omega^{2n}, \omega^2 \Rightarrow d \in (2 \times \omega^{2n}) - \omega^{2n} = \omega^{2n}$ 13
 $(\omega^{2n} \times 2) + (2 \times \omega^{2n}) \in \mathbb{N} \Rightarrow \omega^{2n} \in \mathbb{N} \Rightarrow \omega^2 \in \mathbb{N} \Rightarrow \omega \in \mathbb{N} \Rightarrow \omega = 1$

$b_n = n, 2, y \Rightarrow d \in 1 - n \Rightarrow y - 2 = n - 1 \Rightarrow y = n + 1$
 $\begin{cases} y = n+1 \\ n+y = 3 \end{cases} \rightarrow \begin{cases} n=1 \\ y=2 \end{cases} \rightarrow \boxed{hy=3}$ $\Rightarrow n \in \mathbb{N} \Rightarrow n = \frac{3}{2}$
 $\frac{1}{n} \in \mathbb{N} \Rightarrow n = 1$
 $\frac{1}{n} \in \mathbb{N} \Rightarrow n = \frac{3}{2}$

$t_n \in \frac{1}{n-1}, \frac{1}{n-2}, \dots$ 14
 $d \in \frac{1}{n-1} - \frac{1}{n-2} = \frac{1}{n-1} - \frac{1}{n-2} \Rightarrow \frac{1}{n-1} \in \mathbb{N} \Rightarrow n = 2$ 2

$t_1 \in t_{n+1} + d \Rightarrow t_1 \in \mathbb{N}$

$$\left. \begin{aligned} b_n &= r, \omega, \Lambda, \rho, \Pi, \Gamma, \nu \rightarrow r_{n-1} \\ a_n &= r, \omega, \nu, \rho, \Pi, \Gamma, \Lambda, \nu \rightarrow r_{n+1} \end{aligned} \right\} n \leq r, \quad \textcircled{1, \sqrt{5}} \quad (2)$$

$$\frac{M_n \leq \omega, \Pi, \nu}{M_n \leq r_{n-1}}$$

$$b_r = \omega, \rho, a_r, r, \Gamma \Rightarrow M_n \leq r$$

$$\Rightarrow r_{n-1} \leq r$$

جاء في المسألة

$$r_n \leq r \Rightarrow n \leq r \rightarrow n: 1, 2, \dots, r \rightarrow$$

$$\left. \begin{aligned} a_1 + a_r + a_r &= r \\ a_1 + a_r + a_r &= \omega \end{aligned} \right\} \Rightarrow a + a + d + a + r d = r \Rightarrow 3a + d + r d = r \quad \textcircled{1, \sqrt{5}} \quad (3)$$

$$a_1 + a_r + a_r = r \Rightarrow a_r = r \quad d = a_r - a_r = r \quad r d = r$$

$$a_1 + a_r + a_r = \omega \Rightarrow a_r = \omega \quad a_1 = -r \quad d = r$$

$$\frac{a_r - a_r + a_1}{a_1} = -\frac{1}{r}$$

$$a_1 + a_r + a_r = \omega \Rightarrow a_r - d + a_r + d = \omega \Rightarrow 2a_r = \omega \Rightarrow a_r = \frac{\omega}{2}$$

$$a_r + a_r = \omega \rightarrow 2a_r = \omega \Rightarrow a_r = \frac{\omega}{2}$$

$$a_{10} = a_1 + 9d = r + 9r = 10r \quad \checkmark$$

$$S_9 = 9 S_r$$

$$\frac{1}{2} (2a + 11d) = 9 \times \frac{1}{2} (2a + d) \Rightarrow 2a + 11d = 9a + 9d \Rightarrow 2a + 2d = 9a \Rightarrow 2d = 7a$$

$$\frac{a_r}{a_r} = \frac{a + 11d}{a + d} = \frac{a + 11(7a)}{a + 7a} = \frac{r}{18a} \quad \checkmark \quad \textcircled{6}$$

$$a_1, \Pi, a_r, \omega \Rightarrow d = r \Rightarrow a_r = 1 + (r-1)r = r^2$$

$$b_1, r, \Lambda, b_r, \omega, b_r, \omega \Rightarrow r - r = 1 \Rightarrow d = r$$

$$\frac{r - r}{n+1} = 0 \Rightarrow r - 1 = \frac{-r}{-1} \Rightarrow r = 1 \Rightarrow d = r$$

$$n+1 = \omega \rightarrow n = 2$$